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0 M3/h0O O m0O O mm0O

1A 20 N=1.1KW.H 1 30 3.5m 750 100 110
=8.4m.Q=27
O /h

2A 35 N=2.2KW.H 1 60 4505.0m 1000 150 200
=8m.Q=530]
/h

3A 60 N=3KW.H=61 80 4505.0m 1500 200 200
3m.Q=8701/
h

4A 100 N=4KW.H=71 100 4505.0m 2000 250 250
m.Q=1200 /h

5A 150 N=4KW.H=72 150 4505.0m 2000 300 300
m.Q=1200 /h

6A 220 N=4KW.H=83 200 4505.0m 25000 350 400
m.Q=1000 /h

7A 330 N=4KW.H=84 240 4505.0m 2500 400 400
m.Q=1000 /h

8A 450 N=4KW.H=74 280 4505.0m 30001500 500
m.Q=1200 /h

9A 550 N=4KW.H=75 350 50 5.5m 35000 500 500
m.Q=1200 /h

10A 650 N=15KW.H=2 400 50 5.5m 40001 500 600
8.5m.Q=330
/h

11A 750 N=18.5KW.H2 450 5.50 6m 40001 600 600
=8.5m.Q=430
O /h

12A 850 N=15KW.H=3 4907 5.50 6m 40001 600 700
8.5m.Q=336
O /h
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